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Questions

The sentence in Present Continuous tense is.

Second form of the verb "know" is

They.... going to isit their uncle.
The correct helping verb to use in the above sentence is.

The children found ............ eggin...... nest.
The correct options to use in the above blanks are.

"He is the boy .... stole my pen."
The correct pronoun to use in the sabove bank is.

She went to sleep at 10 o, clock.
The correct question for this answer is.

Raheela blamed ... for the mistame.
The correct prounoun to use in this sentence is.

The collective noun is.

Violations of prescribed speed limits can also invoke.

The word reduce means.

Who are required to drie their vehicles withing givhe speed limits.

Over speedign is most crucial factor causing...... or injuries in road accidents.

Answers Choice
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. They are eating apples

. They were eating apples

. The will be eating apples

. They have been eating apples

Knows
Knowed
Knew
Known

Have
Will
Had
are

A. He did she go to sleep?<div><br>
</div>
B. Where did she go to sleep?
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When did she go to sleep?
Why did she go to sleep?

Yourself
My self
Him self
Herself

Book
Army
Pen
Water

Penaities
Traffic
Endanger
legal

Bring up
Bring out
Bring low
Bring back

Passengers
Drivers

Pedestrians
Horse-riders

Fatalities
Fatalism
Fatalistic
Fatally



